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1 Discussion
During RAN4#86 it was agreed to set the interfering signal waveform type for NR receiver requirements to DFT-S-OFDM. For the 20MHz interferer type, the spectrum utilization for DFT-S-OFDM is 100 PRB, which is 6 PRB fewer than for CP-OFDM in the same bandwidth. The reason for this is that the DFT-S-OFDM waveform must fulfil the following constraint:
number of RB=2^X*3^Y*5^Z
100 PRB is the largest number that will fulfil the CP-OFDM constraint without overlapping with the minimum guard.

Using DFT-S-OFDM reduces the linearity requirement on the test gear and will reduce the risk of test equipment ACLR limiting the test setup and TT. However, it was also agreed that the reduced PRB utilization of the interferer should not relax the ACS requirement, which was originally agreed with CP-OFDM in mind:
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To avoid a relaxation, the offset of the 20MHz interferer was reduced by 540kHz:

[image: image2]
It should be noted that now the channel bandwidths of the wanted signal and interferer overlap somewhat, however the frequency distance from the wanted signal edge to the ACR interferer edge is the same as was agreed with CP-OFDM in mind.

In principle, this agreement is fine. However, it is noted that neither the PRB utilization nor the DFT-S-OFDM constraint is captured in the BS specifications. Even in the UE RF specification 38.101 the spectrum utilization for DFT-S-OFDM is not captured; it is in fact implicit from the RAN1 specifications.
The fact that the PRB utilization is not captured anywhere in the BS specifications could be problematic if it could lead to misunderstanding. If it would be assumed that 106 PRB should somehow be filled up, then the gap between the wanted signal and interferer would be reduced to only 340kHz, which would be insufficient for both the test gear and the BS. An alternative misunderstanding could lead to fewer than 100 PRBs being used, since the PRB utilization is not clearly stated.

Considering that in certain administrations, the receiver requirements will in the future become part of regulatory requirements, it is important that the BS specification is understandable on a standalone basis. For this reason, it is proposed in [1] to add a note to the receiver requirements clarifying the assumed PRB utilization for the interfering signals.
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